4 | 3 y) 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION -, - LOC DIST RE\/‘S‘ONS
@ COPYRIGHT - By — PLL RIGHTS RESERVED: DW P TR DESCRIPTION DATE OWN | APVD
C REVISED PER ECR—12-013431 15APR2013| K. M |E. T
67.9
D
59.74+0.3
4890 NOTE:
1. MATERIAL:
3672403 HOUSING: THERMOPLASTIC WITH GLASS—FIBER FILLED,
UL 94V—-0 RATED, COLOR: SEE TABLE.
0.6£0.15 2.1640.13 TINE PLATE: THERMOPLASTIC WITH GLASS—FIBER FILLED,
| e UL 94V—0 RATED, COLOR: SEE TABLE
— ﬂﬁ .ﬂﬂ Wﬂﬂﬂﬂﬂﬂﬂﬂfﬂﬂ.. QD CONTACTS: COPPER ALLOY.
‘ 1 BOARD LOCK: BRASS.
\< >/ SPRING LATCH: STAINLESS STEEL
HE OO DD D0 2 e g SHELL: STEEL.
1y ey ) ) 8y RIVET: BRASS.
i QF&HF&QH%QQHQHLJ% i 2. FINISH:
i i i O Il %{5 el el el szl as CONTACT: (SEE TABLE) GOLD PLATING ON CONTACT AREA,
\ , , / 2.54um [WOOM’] MIN. TIN=CU ON SOLDER TAIL,
‘i i = 1.27um [50@”] MIN. NICKEL UNDERPLATED ALL OVER.
15.3 SHELL: 1.27um [50//] MIN. NICKEL PLATED.
LOGO BOARD LOCK: 3.81um [150x’ ] MIN. TIN—CU PLATED.
RIVET: 1.27um [5OM’] MIN. NICKEL PLATED.
C SPRING LATCH SPRING LATCH /\ SEE SHEET 4 FOR DIFFERENT POINT EXPLANATION.
SEE SHEET 3 FOR DIFFERENT POINT EXPLANATION.
@ SEE SHEET 4 FOR DIFFERENT POINT EXPLANATION.
INSULATION SHELL M3X0.5
] CONTACT THREAEEFIZ))L(I:NSERT
/ |
RIVET
Y] L
/ . . W/0 BLACK /A GOLD FLASH |5-1734044-3
| | w
‘ [ [ Eg o« 8 (©|OBSOLETED| W/0 BLACK /A GOLD FLASH |[4—1734644—3
l i i i i i i i i i i i i i i i i i | h “ - w/ BLACK /ARIVET(M3)| 0.38Tum [15u7] |3—4734644—3
B ! i ! OBSOLETED| W/0 BURGUNDY SCREW 0.381um [15u"] |2—1734044—1
Ho s u | ] W/0 BLACK /ARIVET(M3)[ 0.381um [15u"] |[4+—4734044—3
> 5 W/0 BLACK RIVET 0.381um [15u”] |[1—-1734044-2
\& TINE PLATE BOARD LOCK ¥———/ & W/0 BLACK SCREW 0.3817um [15u”] | 117340441
CONSTRUCTIVE AND VISUAL CONSTRUCTIVE AND VISUAL 2542025 | W/0 BLACK /ARIVET(M3)|  GOLD FLASH 1734044-3
C(%NSEFSEFER—I%EEQE@B CHANGE REFER TO DETAIL A W/0 BLACK RIVET GOLD FLASH 17340442
] W/0 BLACK SCREW GOLD FLASH 17340441
| 101 | GROSND | HOUSING & TINE PLATE\ |ock TYPE| MIN. THICKNESS |PART NUMBER
| 11.51+0.15 | 36.72+0.1 | DWN 270CT2008
THIS DRAWING IS A CONTROLLED DOCUMENT.
S. CHIEN == .
| 2.16£0.10 2 oK ~70CT2008 = TE TE Connectivity
uij_ g -é‘_ DIMENSIONS: TOLERANCES UNLESS S. CHIEN
~ N | S OTHERWISE SPECIFIED:  |APVD 270CT2008 | NAME
‘49—4} e o0 OO0 ©70-6 \‘\ @ mm W. _KODAMA RECEPTACLE ASSEMBLY, 36P
Lo [ —t 0 PLC +0.38 PRODUCT SPEC
A b b-0-0 0-6-0 0-0-0-5 0-6-0 o-0-0-b | 1PS o 108—57098 RIGHT ANGLE, CENTRONICS.
E 3 PLC + 0.05 APPLICATION SPEC
40,90 LAST POS. iNg\[ECS + — - . SIZE CAGE CODE | DRAWING NO RESTRICTED
+0.
i v MATERIAL FINISH WEIGHT GRAMS AB 00779 @':'W 734044 -~
RECOMMENDED PC BOARD LAYOQUT SEE NOTES SEE NOTES
CUSTOMER DRAWING el e 5 | C

1470-19  (3/11)




4 | 3 y) 1

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION - = LoC DIST REVISIONS
@ ALL RIGHTS RESERVED.
COPYRIGHT — By — DW P LTR DESCRIPTION DATE DWN APVD
- SEE SHEET 1 — — —
DETAIL A DETAIL A
,l
(? {M
\
\

_—/d
HH— {0
HH— 0
i it
ORE

QUARTRANGLE RIVET
N #4—40UNC
<—B
LI A — e

| 7= N
— N — L —
#4—40UNC -8B
BOARD LOCK SECTION A-A BOARD LOCK CCeToN BB
FOR X—=1734044-2
FOR X—=1734044-1
THIS DRAWING IS A CONTROLLED DOCUMENT. ™™ B -
e — = TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS —
OTHERWISE SPECIFIEDS APKD — | NAME
oo e — RECEPTACLE ASSEMBLY, 36P
1 PLC 0.25 B RIGHT ANGLE, CENTRONICS.
<$> 2 PLC +0.13
3 PLC + 0.05 APPLICATION SPEC
4 P + - SIZE CAGE CODE | DRAWING NO RESTRICTED
GLES + - —
MATERIAL FINISH WEIGHT _ AB 00779 @':'W 734044 -
) ) CUSTOMER DRAWING SAE T I 5wy [T o

1470-19  (3/11)




4 | 3 2 1

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION - - . Lac DIST REVISIONS

ALL RIGHTS RESERVED.
©) copvricHT - By — DW

P LTR DESCRIPTION DATE DWN APVD

- SEE SHEET 1 - — —

DETAIL B ﬁ ﬂﬁ DETAIL A

QGpz>

BAIL LOCK POST
4 PLC
$3.2 HOLE ‘ VY
M3X0.5
! THREADED INSERT
‘ -/ -/ 2 PLC
c—| | D
P - | | —— ]

28 | ‘ \\ ! 5 74
‘\:‘:li T i i \“ \l‘ i i *\:':,* I %
| | | |
|
—— —] ! ! ,,’ ,.! ! — —
il - /] — ]
C— /7 D
- QUARTRANGLE RIVET
SECTION C-C SECTION D-D
BOARD LOCK
©
ONLY FOR 4—4734044—3 /A
DWN -
THIS DRAWING IS A CONTROLLED DOCUMENT. o —
e — = TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS =
OTHERWISE SPECIFIEDS APKD — | NAME
o PLe L 0 RECEPTACLE ASSEMBLY, 36P
1 PLC z o RIGHT ANGLE, CENTRONICS.
<$> E 2 PLC £ -
3 PLC £ APPLICATION SPEC
4p £ - SIZE | CAGE CODE | DRAWING NO RESTRICTED
GLES £
MATERIAL FINISH WEIGHT _ AB 00779 @':'W 734044 -
) ) CUSTOMER DRAWING el e A T e

1470-19  (3/11)




4 2 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION Loc DIST RE\/‘S‘ONS
@ COPYRIGHT — By — LT RonTS RESERIED: DW — P 7R DESCRIPTION DATE DWN | APVD
— | SEE SHEET 1 - — | =
DETAIL A DETAIL A
/
i
{
=
NGk
\e1 e
‘IEH e
|
/
QUARTRANGLE RIVET
BAIL LOCK POST
4 PLC
/ M3X0.5 M3X0.5
— THREADED INSERT THREADED INSERT
/ 2 PLC 2 PLC
!
\\ H?—!—W B —T—
v T T
0 I
\‘ Il Il i § ﬂg  E——
\ | | ‘E -|lo
! h o~
| | L QUARTRANGLE RIVET T ]
nlh —— —
,/ [ |\ I _
! L1 T ©3.20
’ —-—E —F 2 PLC
BOARD LOCK .
SECTION F=-
SECTION E-E BOARD LOCK
ONLY FOR 5-1734044-3 /5\
FOR 1734044—3, 1—1734044—3, 3—1734044—3 /2
THIS DRAWING IS A CONTROLLED DOCUMENT. ™™ - -
m - = TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS —
OTHERWISE SPECIFIED: APKD — [ NAME
oo aos — RECEPTACLE ASSEMBLY, 36P
1 PLC +0.25 RIGHT ANGLE, CENTRONICS.
@E 2 PLC +0.13
3 PLC + 0.05 APPLICATION SPEC
4 PLC + - SIZE CAGE CODE | DRAWING NO RESTRICTED
ANGLES + 3
MATERIAL FINISH WEIGHT _ AB 00779 @':'W 734044 -
] CUSTOMER DRAWING SAE T P 4 ey MY 0

1470-19  (3/11)




4 3 2 W
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION -, - LOC DIST RE\/‘S‘ONS
@ COPYRIGHT — By — LT RonTS RESERIED: DW P 7R DESCRIPTION DATE DWN | APVD
- SEE SHEET 1 - R -
D
PVC TRAY
225 23 225 17,
PAPER BOARD [ | - _
C [ J rf 17 pl
UPPER COVER LOWER COVER
B
8.0 9.0 12 16 192
o NET WEIGHT GROSS WEIGHT PCS/ TRAYS/ QUANTITY
(KGS) (KGS) TRAY OUTER BOX
THIS DRAWING IS A CONTROLLED DOCUMENT. |®™ -
S = TE TE Connectivity
DIMENSIONS: TOLERANCES UNLESS —
OTHERWISE SPECIFI APKD NAME
T = RECEPTACLE ASSEMBLY, 36P
A 1 PLC Z o RIGHT ANGLE, CENTRONICS.
2 PLC + —
@ 3 PLC + — APPLICATION SPEC
4 P + — SIZE CAGE CODE | DRAWING NO RESTRICTED
GLES + —
MATERIAL FINISH WEIGHT . AB 00779 @DW 754044 -
] ) CUSTOMER DRAWING e M 505 Y0

1470-19  (3/11)




